
Page 1 of 2

Technical Support:
1-866-852-6872

www.kbnusa.com
©Yamakoyo Machinery Co., Ltd.

Rev. 0808

No. P/N Description Qty No. P/N Description Qty No. P/N Description Qty
A 62-311 Frame Assy. 1 F YK 1500 Q Yamakoyo Engine Assy. 1 I-3 62-525 Green 25 degrees 1
B 62-312 Shock Absorber 2 G 62-521 High Pressure Pump Assy. 1 I-4 62-526 White  40 degrees 1
C 62-300 High Pressure Hose 1 H 62-522 Gun & Wand Assy. 1 I-5 62-527 Black 60 degrees 1
D 62-313 Nut, Wheel 2 I-1 62-523 Nozzle Tip Red 0 degrees 1 J 62-314 Hose & Gun Holder 1
E 62-301 Wheel Assy. 2 I-2 62-524 Yellow 15 degees 1 62-511 Chemical Hose Assy 1

GPW 4000

GPW 4000



Page 2 of 2

Technical Support:
1-866-852-6872

www.kbnusa.com
©Yamakoyo Machinery Co., Ltd.

Rev. 0808

No. P/N Description Qty No. P/N Description Qty No. P/N Description Qty
1 62-461 Nut M6 1 13 62-473 O-Ring  4x2.5 1 25 62-485 Flange 1
2 62-462 Grub Screw M6x12 1 14 62-474 Bolt & O-ring 8 26 62-486 Bolt M8x20 4
3 62-463 Unloader Knob 1 15 62-475 Head 1 27 62-504 Pump Body & Bearing 1
4 62-464 Spring Kit 1 16 62-476 Complete Valve 6 28 62-488 Oil Cap 1
5 62-465 Valve Piston Kit 1 17 62-477 Support Ring 3 29 62-489 Piston & Con Rod 3
6 62-466 Piston Guide Kit 1 18 62-478 Piston Guide Ring Kit 3 30 62-490 O-Ring 101.27x2.62 1
7 62-467 By Pass Jet Kit 1 19 62-479 Plug 3 31 62-491 Bolt M6x12 4
8 62-468 Hose Nipple Kit 1 20 62-480 Complete Valve 6 32 62-492 Rear Cover 1
9 62-469 Plug 1 21 62-481 Plug 2 62-493 Manifold Assy 1

10 62-470 Injector Insert 1 22 62-482 EZ Plug 1 62-505 Pump Body Assy 1
11 62-471 Detergent Injector Kit 1 23 62-503 Hollow Shaft Kit 1 62-495 O-Ring Seal Kit 1
12 62-472 Jet 1 24 62-484 Oil Seal 1 62-496 Thermal Relief Valve 1

GPW 4000

GPW 4000


	GPW 4000

